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M.Sc./H.Sc. (IVth Semester)
Examination, 2020

FOOD & NUTRITION
(Statistics & Computer Application)
Time Allowed : Three Hours

Maximum Marks : 70
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Note : Section A — Attempt any ten questions.

question carries one mark.

Section B — Attempt any five questions.

question carries two marks.

Section C — Attempt any five questions.

question carries four marks.

Section D — Attempt any three questions.

question carries ten marks.

gug - 3A

SECTION - A

Q1. T WE W (P U :

Fill in the blanks (any five) :
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Each

Each

Each

Each
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Full form of RAM is )

frafRed gl &1 9AEiaR AT ...

gr|

4,5,6,5, 7,8, 6,5

Arithmetic mean of following data is

4,5,6,57,8,6,5

PITIOI

(4)
(5) P wwat ¥ sfres T AT ...

11, 16, 12, 14, 16, 17, 19, 12, 14, 16
Mode of the following data is

11, 16, 12, 14, 16, 17, 19, 12, 14, 16

technique was developed by Karl
Pearson.
& IR T AG oM
v~ Mark the correct answer :
(1) AEHdY & IR ¢ :

(31) @™
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(3) (6)

(d) gD (9) IWIB M

() sl (3) IRRD | A DB Fal

(@) IRIB T Input device is :

Types of correlation is : (a) Key Board

(a) Linear (b) Joystick

(b) Positive (c) Both of the above

(c) Semi (d) None of the above

(d) All of the above (3) PF-T fassd wumm 3R ST & 99 & 3R
(2) ggc famw &: TS TR @

(37) @ I (371) 3m3cye fEaw

() SHRe® (§) #ARY
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(7) (8)
(}) ¢ feams (9) MAN

(T) ATBHITEIR (@) RAN

Which device can understand the difference Internet is related to :

(a) LAN
between programme & data :

(b) WAN
(@) Output device

(c) MAN
(b) Memory

(d) RAN

(c) Input device
(5) RAM &g 9BR @ memory 2 :

(d) Micro processor

(37) Rt
(3) LAN (¥) eI
(@) WAN (@ T
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(9)

RAM is which type of memory :

(@) Inner

(b) Outer

(c) Subsidiary

(d) Main

gug - §
SECTION - B
Q. 2. = & Ry fofee (@ dfa) - 10

Write the definition of the following (any five) :
(1) 3meye feagw

Output device
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(2)

(3)

(4)

(5)

(6)

(7)
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(10)

By WRR

Chi square

sitTa

Average

fBfoea drgex

Digital Computer
Teey & 3
Meaning of correlation
s fa

Histogram

dgcih

Mode



(11)

gusg - 3

SECTION - C

Q.3. 9 & wxe | (@ ) :

Explain the following (any five) :

(1)

(2)

(3)

(4)
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RAM dar ROM
RAM and ROM
GECIC]

Key Board

fickr & TR
Typer of printers
RGBT

Paragraph allignment

20
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us - ©
SECTION - D
Q. 4. f&g 3 yedl & FK <l 30
Attemp any 3 questions.
(1) FEdeg @ §d @< @ (et saemse
TEIEY & TBR WL B
Describe the methods of finding correlation.
Explain types of correlation.
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(12)
(5) "&b faaem
Standard deviation
(6) 7S] B TNHRUT TF ARONTA

Classification & tabulation of data




(2)
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(13)
RMR® v A RERD WeEv B e
ded e R
Explain parametric & non parametric test

with example.

BRI B b SIIMH §el MS-Word &
1 B BRA BN TichdT W FR| MS-Word
faRiyae  sqere|

Draw block diagram of computer. Explain the
process of working with MS-Word. Describe
characteristics of MS-Word.

frefoRea wRol & wwie iR foeaRiar &t
=T & g E| TEDI T DIt :
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(14)

Ui |12(3 |4 |15 |6 |7 |8
fgefefat |58 |12 |15 |10 |8 |3
D T

No. of students and marks obtained are

given in the following table. Calculate the

median :

Marks obtained

4

5

No. of students

12

15

(5) =1 wH®I & 3Mghdy IH & :

ITdiHh

0-10

10— 20{20 - 30

30-40

40-50

50 -60

60-70

fenfafat
P I

5

10

15

20

12

Make a frequency curve of following data :

Marks obtained [0 — 10 [10 — 20{20 — 30|30 — 40|40 — 50{50 — 60{60 — 70
No. of students| 5 10 15 20 12 7 4
]
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